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i} o Only the total length of the wire.

'0) b Only the known em! of the powes SUpply:
i

":- unkniown &mil ond the tolol length ot the wirs
-‘Il‘E emil of the power supply, the unknown emt, the rasistivity olthe wire, and the total length of

o

B Bath the unknown emi and the known emmil of the power supply

e Yy choice
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The figure below is the Potentiometer circuit, showing the balance point at a distance L from the left end of the

meter wire. The position of the balance point along the wire depends on:
=15V

L. ¥ TUeee
—l}—(é
&

O a. The known emf of the power supply and nothing else.

O b. The unknown emf, the emf of the power supply, the total length of the wire, and the resistivity of the wire.

@ c. Both the emf of the power supply and the unknown emf.
(O d. The total length of the wire and nothing else.

(O e. The total length of the wire and the unknown emf.

Clear my choice
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) a.0.2V/em
O b.20V/cm
O ec.01LV/em
O d.10LV/em

() e.20cm/V

Clear my choice

Time left 0:13:20

D meter wire

In the Potentiometer experiment, let the known emf of the power supply be E = 20 volts. The slope of the graph
V vs L (where L is the length in cm of the wire segment shown in the figure, and V is the potential difference
measured by the voltmeter between the ends of the wire segment of length L) is:
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During the Potentiometer experiment, which of the following is true when we find the balance point?

@® a. The potential difference across the wire is the same as during calibration.

O b. The unknown emf is equal to the potential difference between the two ends of the wire.
O c. The potential difference between the beginning and end of the wire is the same as the unknown emf.
O d. The potential difference between the beginning of the wire and the balance point is zero.

O e. The potential difference between the end of the wire and the balance point is zero.

Clear my choice
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